Unit 2B Systems of Equations

Test Review

Each problem should be completed.
If you do not finish in class, then you will need to finish those problems for homework.
Answer Keys are posted on the board and they will also be on the blog.

Study Session Tomorrow at 8 AM. Feel free to message for help on remind.
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Did You Hear About. ..

Solve each system of equations below using
multiplication with the addition method. Find the
solution in the answer column and notice the word

next to it. Write this word in the box containing the TWEET (1, 2)
letter of that exercise. Keep working and you will

hear about some “udder” nonsense. HIS 2, 1)

@ 5x — 2y =4 @ 3 —5y=7 SELLING (=5, 0)

3X+y=9 Bx — 2y = —1 BIRDSEED (-1, =2)

UDDER 2, 0)

(B) 3x -5y =13 (H) 4x+3y=9 THE (2, 3)

X—-2y=5 3X+ 4y =12 SINGING (—5, 4)

STARTED (2, —=2)

©) 7x+2y=-1 (1) 5x-3y=16 FED (-2, 4)

3x—4y =19 4x + 5y = -2 BUTTER (=1, 3)

COWS (1, 4)

@ X+2y=6 @ 4x ~ 3y = —20 MILK (=1, —1)

5+ 3y =2 —x-8y=5 FARMER (1, —2)

AND (0, 3)

(E) 2x+3y=7 K) —ax+7y=~1 WINGS (2 —4)

3x + 4y =10 —2x+5y=0 WHO (1, —4)

MOO (1, 3)

(F) 7x-3y=-5 (©) 5x+6y=—11 CHEEP .2

3x+ 2y = 11 3x+y=-4 BEEF (3, -2

OBJECTIVE 6~f. To solve systems of equations using muitiplication ALGEBRA WITH PIZZAZZ:
with the addition method {equations are in standard form). © Creative Publications 167




(0 ‘9-) (2— ‘v) @‘1=) (@ ‘1) (0 ‘v) (8 ‘€) (1 1-) (G ‘1~)
(- 2) (G~ ‘0) ‘1) (G- ‘2) (L) (r— ‘9-) (b— ‘€) (E— ‘p)

L=(A+x2)E

F = -xz (V)
m{fmim{;mifﬂimimimé
‘Il 9A0QE X0 B} Ul 9SI0I9XS

leul Jo Jaual syl 9alum pue abed a1 jo WOROQ 8yl 1B UOINIOS 9yl Puld “pPoLawWw
uonippe ayi Yyum uoneoidninw Buisn molaq suonenbs Jo waisAs yore aaj0S

@

I 7 =l
e | w
MM c— =g ez 4 i A—XG =g +XE
w c_¥.9 w g=Ag —x m p+x=(Ae-xz (L
s g e
5 @ & ._wIHxN.+m @ﬁ
A x g— = Ay + X¢
2 _2 ¥ w 6+xe=4-x5 (&)
w L Ag x B 2i-=(up+w)e B
_ G 4 0=(q + eg)e
e~ =(he+x7 (N) w G =(ug—w) m
% w M quw s-=gz-¢ (1)
w owtxn::xa w r=A+x % 0L =4+ X
W % m
=2 =1

{HBYS BUIN B umoQ oueld puels) e doi( NoA J| 189 NOA 0Q 1eym

OBJECTIVE 6-g: To solve sysiems of eguations using mulliplication with
the addition methed (equations are not necessarily in standard form).

ALGEBRA WITH PIZZAZZ!
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_ Unit Systems of Equations & Inequalities

Bell:

Homework 11: Unitﬁ Review

** This is a 2-page document! **

1.3x+y=5
x=-y=1

Y

Solve each system of equations by graphing. Clearly give your solution,

2. 4x—-2y=-8
y=2x+4 Y

Solve each system of equations by substitution. Clearly give your solution.

3. 27C+ 5y="7
7x+y=-8

4, x-3y=-24
5x+8y=-5

Solve each system of equations by elimination. Clearly give your solution.

5.x+2y=3 6. x=8-2 Jx—pu=-o>
5c+3y=8 3x~-3y=15 BX--?;jjrig'

@ Gina Wilson (All Things Algebra®, LLC), 2012-2016
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7. Karen and Holly took their families out to the movie theater. Karen bought three boxes of candy and
two small bags of popcorn and paid $18.35. Holly bought four boxes of candy and three small bags
of popcorn and paid $26.05. Find the cost for a box of candy.

RJ and $Sam are each saving for a new iPhone. So far, RJ has $9 saved, and eams $6 an hour
babysitting. Sam has $3 saved and earns $9 an hour mowing lawns. After how many hours will
they have saved the same amount? What will that amount beg

Graph the following finear inequalities.

9. 2x-4y<8 10, y= 3
7 Y Y y

Graph the following systems of linear inequalities.

y>=x+1 y 4x + 3y <18 y
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Algebra Unit 2 Reasoning with Systems of Equations and Inequdlities
Name: Date: Period
Unit 2B Test Review

Find the solution of the linear system graphically. Write your solution in the blank provided.
y=—x+3 5 yp=—2x+7
y=x+1 T 3x+6y=12
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Use substifution o solve the linear system. SHOW ALL WORK and write your solution in the space
provided.

y=2x-2 : _— dx - y=-6
S bx+2y=16 , —  y=2x+2

Use elimination to solve the linear system. SHOW ALL WORK and write your solution in the space
provided.
Sx-3y=7 -3x+3y=-9

T 6x+2y=2

" x+3y=5




Algebra | Unit 2 Reasoning with Systems of Equations and Inequalities 10
Systems of Linear Equations Word Problems:

7. A store sold 32 pairs of jeans for a total of $1050. Brand A sold for $30 per pair and Brand B sold for
$35 per pair. How many of Brand A were sold?

8. You are 'selling tickets for o basketball game. Student tickets cost $3 and general admission tickets
cost $5. You sell 350 tickets and collect $1450. How many of each type of ticket did you sell?

. n A A
Graph the systems of inequalities, and name a solution.
9. x-3y<-9 10. y>-x+2
4x+3y>-6 ' dx+y<-1
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11. What quadrant is the graph of the system: x<-1 and y>4 predominantly in?

Y
I
[F 1
S a e Rop ki
1§ | v




